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<R+ _C> ()= Eu(s) — I(s)= (Es(s) C1sE(s) _ sE()
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1 5¢ 'sin(2t)} = ————— 000000
(1) e "sin(20)} =
S) = . = =
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i(t) = 727I(s)} = —4e™?" + 7" (4 cos 2t + 3sin 2t)

= —4e7?" 4+ 5e7 " sin(2t + ¢) [A] (¢ =tan™" %)

(2) Z{6()} =100000000000000
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I(s)= > =1+

s+2 s+2 i(t) = h(t) = 27 HI(s)} = 6(t) — 2e7 2 [A]
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i(t) = /Oh(T)es(t—T)dT
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5(8(1) —2e7%7) e " sin 2(t — 7)dr
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56(7)e~ """ sin 2(t — 7)dr — 10~ / =) sin 2(t — 7)dr
0
0
= 5e 'sin2t — 10e % / €® sin 2z - (—dx)
¢

t
= 5etsin2t — 10e™? / e’ sin 2zdx
0

1
= be lsin2t— 106_%3 (et sin 2t — 2e' cos 2t + 2)
= be lsin2t — 2 tsin 2t + 4e P cos 2t — 4e 2
= —de " +e " (4cos2t+ 3sin2t) [A]



